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Instructions for the candidates :-
1. Gtemeff OMR I<R-U5eh UR STUHT U GfKiehT ShHich (10 3ichi oh) 37a%y ferd|

Full Marks :-100

ot :- 100

Candidate must enter his/her Question Booklet Serial No. (10 Digits ) in the OMR Answer Sheet.

2. gdtegreff gurde Srg= el A g IR 2

Candidates are required to give answers in their own words as far as practicable.

3. qifeft ofk B1fd R Ry gy ofeh guifes fAfEE o &1

Figures in the right hand margin indicates full marks.

4.yl Hl eAYE UeH 3 oy uierel @l 15 fiee & Afdfees v fean g |

15 minutes of extra time have been allotted for the candidate to read the questions carefully.

5. g UH Yfdchr &t Wust # ¢ WUg -31 79 WU -9 |

This question booklet is divided into two sections - Section A and Section-B.

6. WUS-I | 100 I UH g, {99 & =gl 50 Ui o1 IR &1 At 81 50 T 31feren Uil & ITR A W UYH 50
IR T &1 etk [ohaT STTQTT| Udeh U & folq 1 3ieh i 81 T8t 3R IueTed Qg MY OMR IR U3eh H g
TQ T&! Jd I iet/let dict O § 9| fohelt +ff R o gTge/ kel uard/ soig/ AR 31fe a1 IR Usieh H UART

AT HAT 8, AT UKt&T URumT 31HT=a ghm|

In Section - A, these are 100 Objective type questions, out of which any 50 questions are to be
answered. If more than 50 questions are answered , then only first 50 will be evaluated .

Each question carries 1 mark. Darken the circle with blue/black ball pen against the correct option
on OMR Answer sheet provided to you. Do not use whitener/liquid/blade/nail etc. on OMR Answer

sheet , otherwise the result will be treated invalid

7. QU - §H 30 Y I U 8| Udeh U & fog 2 3fes RuiRa 8, {9 @ fohegi 15 Ui a1 IR &1 srfard
&1 §9eh fdR<h, 39 @Ue H 8 &Y I U faU 1Y &, Udeh U & foIg 5 3ich RuiRa 8. fod & gl 4

usfl el STR AT

In Section -B, there are 30 short answer type questions, each question carrying 2 marks, out
of which any 15 questions are to be answered. Apart from these there are 8 Long Answer
Type questions, each carrying 5 marks , out of which any 4 questions are to be answered.

8. fohelt UehRR o SetargiAieh IUhRUT ohl UANT QUi afsid g

Use of any electronic appliances is striclty prohibited.
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¥us 31 / Section A
a&gfAs us1 / Objective Type Questions

U HE 1 | 100 dF U U & a1 9R fawew Ry 7y €, 5w @ v @t g1 gl 50 Teei & IR §1 31 gy
A T T fawew & OMR sfie W Rifrea 21 afe ademefi 50 & a1fe weei & IR 34 ¢, at UoH 50 Iaei &gt
S gt

Question Nos. 1 to 100 have four options, out which only one is correct. Answer any 50
questions. You have to mark your selected correct option in the OMR Sheet. If the
candidate answers more than 50 questions then first 50 answers will be evaluated.

50x1 =50

1. BRAT YT & fFA T | 3ar g ?

(A== (B)weaw

(OfFr= (D)TTH & =d &
Foreman comes under which level of management?
(A) Top (B) Middle

(C) Lower (D) None of these

2. A U WA F ¢ :

(CYR R (B) fawsr #
(O) (A) v (B) G-I A (D) wgrE®

For owners, Scientific management is :

(A) In favour (B) In against
(C) Both (A) & (B) (D) Helpful
3. P Adfra AR d st wiard ?

(A) sk (B) &

(C) 32T (D) =UR
Work is completed from which method ?
(A) Process (B) Industry
(C) Objective (D) Trade

4, T e @d: Rffadare ?

(A) forareres (B) su=nives

(C) sttu=nivas (D) fawwia
Which organisation is automatically formed?
(A) Functional (B) Informal
(C) Formal (D) Divisional



5. goted Ra—or = T8l 8 :

(A) ek (B) fg=a

(C) &=U=A (D) 39 @ <RI T
Budgetary controlis nota........... of management.
(A) Function (B) Part

(C) Substitute (D) None of these

6. At it kY srraadar gidi g

(A) STeUehTe=T (B) Qrdferreia

(C) (A) ©di (B) ¥t (D) 399 & ig gl
Fixed capital is needed for :

(A) Short term (B) Long term

(C) Both (A) & (B) (D) None of these

7. Q<ft o1 Sfig Frafaa AT @ :

(A) Rt (B) ahieTehTarT

(C) 3=d (D) g9 |+t
Regional Office of SEBI is situated in :

(A) Delhi (B) Kolkata

(C) Chennai (D) All of these

8. Aavrflmdisa s eTv g :

(A) 2ftwr FAofg (B) faar= & w_eret
(C) &g (D) SuRt=h |t
Advantages of divisional organisation are:

(A) Quick Decision (B) Ease in expansion
(C) Flexibility (D) All of the above
9. 9t Auzr 8 :

(A) IqTE I (B) 3T=<1les <TaR &1
(C) gsft aTeIR &1 (D) ER&R <kl

SEBI is controller of :

(A) Production (B) Internal Trade
(C) Capital market (D) Government



10. WA Ry A afAfaa a8 8 :

(A) 3ier goft (B) eh T

(C) U9 iy (D) 3iar tifdaw
Owner's fund does not include :

(A) Share capital (B) Bank loan

(C) Reserve Fund (D) Share premium

11. ST SRAM S TEI URFA & :

(A) ferarees T e+ (B) fasmfia drs=

(C) ¥@T T+ (D) g9 Ot

Main forms of organisation structure are :

(A) Functional organisation  (B) Divisional organisation
(C) Line organisation (D) All of these

12. T22A Sl HIYUT Ufienl & g Hruferar e :

(A) ATeTH (B) geRIfET

(©) sfagfe (D) R

The process of converting message into communication symbol is :
(A) Medium (B) Encoding

(C) Feedback (D) Decoding

13. Uy & Rgat A marha hr s g 2

(A) wrahreITer & (B) We-Iahl & 3igva €

(C) uTgahi & Ig¥va | (D) 9HTST a5 ARl gRT

How management principles are created ?

(3) In laboratory (B) By manager's experience
(C) Consumer's experience (D) By Social Scientists

14. fohg Ta9 A 3rthaTg heldl g 2

(A) sttu=iRes (B) SrtuaiReh

(C) hstepd (D) ferch=siieper

Rumours spread through which organisation ?

(A) Formal (B) Informal

(C) Centralised (D) Decentralised
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15. Ueie] h AhAdT T MTAfAs da & :

(A) €§qE HHAH (B) srcafdes geft
(C) gsT TSR (D) 39 & ig gt
Primary element of management is:

(A) Satisfied employee (B) Large capital

(C) Big market (D) None of these
16. PrgfRneoT Tk afhaT 2 :

(A) ¥qITHR (B) =UTTcH<h

(C) (A) & (B) gt (D) 577 & i 7
Recruitment is a process :

(A) Positive (B) Negative

(C) Both (A) & (B) (D) None of these

17. 99d IV § 3114 &l U418 gl g

(A) SR A 3R (B) 12 &t a1k

(C) gvaad W (D) 37 & aoft

In horizontal communication suggestion flow to :
(A) Upward (B) Downward

(C) Same level (D) All of these

18. g1y fAgsIur & fag dar srraash @
(A) ufdeorgrg aroft Y (B) SsiEe Y

(C) Aeadh 3 i (D) S<RERE
Budgetary control requires the preparation of :

(A) Training time table (B) Budget

(C) Network diagram (D) Responsibility centre

19. usief 3icherur fohaeh Asure R AR ¥@= &l Ueh depr-iier & ?
(A) o=t (B) ¥a=ft &1 weier

(C) Sizremd (D) utgeh

Management Audit is a technique to keep a check on whose
performance ?

(A) Company (B) Management of the company
(C) Shareholders (D) Customers
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20. hI9-IT JSie AR 3R Eefertell= 3radehdT & faw =T STIaT @ ?

(A) grHTfSieR So1e (B) 3mfdfer aote

(C) fa=htg a<1e (D) 379 & i3 &l

Which budget is prepared for short term and long term needs ?
(A) Social budget (B) Economic budget

(C) Financial budget (D) None of these

21. frgier wa fAg=or gy & ) ugd 8 ?

(A) Sgar (B) 31T

(C) I (D) 579 & ig &
Planning and controlling are which aspect of management ?
(A) Twins (B) Seperate

(C) Complementary (D) None of these

22. ATUTRG AG Td ¢ :

(A) Exefertefi= g oAt (B) Hegerteti= fa<t ahr

(C) Sreuehteii{ fa a1 (D) 39 @ ohiE w181

Trade Credit is a source of :

(A) Long term finance (B) Medium term finance
(C) Short term finance (D) None of these

23. I Gt _TART 8 :

(A) =Tt doft (B) wrefafter oft
(C) et Yot (D) 371 & el Tl
The sum of Current Assets is :

(A) Fixed capital (B) Working capital
(C) Total capital (D) None of these

24. Foft v & R HER 2 -

(A)1 (B) 2
(C)3 (D) 4
Various types of capital gearing are:

(A)1 (B) 2
(C)3 (D) 4
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25. arforfSaes faus T sran e :

(A) ghat g (B) e gRT
(C) TRFR ZRI (D) fashar grT
Commercial Bill is written by :

(A) Purchaser (B) Bank

(C) Government (D) Seller

26. ifae faawor § gamafAa adi giar g :

(A) aRaga (B) fore sma=a

(C) vusRuT (D) Ty fAsrorT
Physical distribution does not include :

(A) Transportation (B) Financing

(C) Warehousing (D) Inventory control

27. THT TN & T Y Sfdehas g gt Gehell 8

(A) 60 a4 (B) 65 ad

(C) 70 a (D) 5719 & s &

The maximum age of the member of National Commission may be:
(A) 60 years (B) 65 years

(C) 70 years (D) None of these

28. A # @ i IR-Rp TirsA g1 8 ?

(A) F¥aIE IUNIHT U, THaIg

(B) SUMIHT TH, ehicTehTdT

(C) Iuait=rr fXrem ga My s, srgweTETe

(D) Sui=hT GH—ag uRRug, 5 Rt

Which of the following is not a Non-Government Organisation?
(A) Mumbai Consumer's Panchayat, Mumbai

(B) Consumer's Association, Kolkata

(C) Consumer Education and Research Centre, Ahmedabad

(D) Consumer Co-ordination Council, New Delhi

29. 999Ul HEAT F UhR gid & -

(A) 2 (B) 4

(C)6 (D) 8

The types of communication network are :
(A) 2 (B) 4

(C)6 (D) 8
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30. gdadearorg :

(A) SR>k (B) SHTITh

(C) g9 <hr gaf& (D) 399 @ his &t
Supervisionis:

(A) Necessary (B)Unnecessary
(C)Wastage of time (D)None of these
31. gBIYUT h YRR @ :

(A) fofaa (B) #if@=

(C) 3ftu=nfer (D) 3779 | 9+t
Types of communication are :

(A) Written (B) Verbal

(C) Formal (D) All of these
32. R=or ferar g :

(A) weft (B) Tt

(C) s (D) &= & i 7
Controlling activity is:

(A) Costly (B) Cheap

(C) Uneconomic (D) None of these

33. ffof@a d @ s- a1 fasrg dada wraram g & 2

(A) 7 (B) e # IugR

(C) U= (D) y=R

Which of the following is not the tool of sales promotion?
(A) Samples (B) Prize in packet

(C) Coupon (D) Publicity

34. 3fteifies faepra & AT R GT ISR ST @ ?

(A) HaT ar<TR (B) Ysft areiR

(C) urufAes aeTR (D) fEdftaes aeR

For industrial development which market is necessary ?
(A) Money market (B) Capital Market

(C) Primary market (D) Secondary Market

8



35. ugiafa sarRat hr wedt w8

(A) (B) 3g<

(C) &ita (D) 314 & i T
Promotion of employeesis a.............. of recruitment.
(A) Work (B) Objective

(C) Source (D) None of these

36. 2ftg Ruifé uarasnet Fasor e :

(A) &rd (B) gist=T

(C) wa (D) 57 & i &
Quick reporting is ........... of effective control.
(A) Function (B) Plan

(C) Organisation (D) None of these

37. fAdsror ufehar a1 yyH TRUT &

(A) Tt Rt ArefRor (B) wrifer T Feich

(C) frror (D) 37 & i T

First step in controlling process is:

(A) Establishment of standard (B) Evaluation of progress
(C) Control (D) None of these

38. d8a fahrat shufaat ur smemRa & 2

(A) 30 (B) 50

(C)75 (D) 100

Sensex is based on how many companies ?
(A) 30 (B) 50

(C) 75 (D) 100

39. f=faf@a d sl-aTaa<=g s da g ?

(A) ghierroT (B) Tgai

(C) 9wy =p1 AgRoT (D) S~

Which of the following is an element of coordination ?
(A) Unification (B) Co-operation

(C) Determination of time (D) Balance
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40. fFr=fafaa 7 gt & forg o sgaguf g 2

(A) fAofa= (B) €15

(C) gafgum= (D) Ada=

Which of the following is important for planning?
(A) Decision (B) Organisation

(C) Forecasting (D) Direction

41. Uik fchar fhd ATt e 8 2

(A) SuMI=HTSiT ht (B) @ fasharsii &l
(C) sfdFagsictat (D) 379 & i e
Wholesaler sells goods to whom?

(A) Consumers (B) Retailers

(C) Authorised agents (D) None of these.

42. Teh IUTE < St dsh bt fAaf v srawm g :

(A) alR=a (B) R

(C) sra=ifa (D) 374 woft
Different stages of a product life cycle are :
(A) Introduction (B) Development

(C) Decreasing (D) All of these

43. gH-B g M FA AN RIER gt 8
(A) It AT & (B) Rera g &

(C) A IMH & (D) 399 4 i g}
On break-even-point total cost equals to :
(A) Fixed cost (B) Selling price

(C) Total revenue (D) None of these

44. fg=ror &1 & g ol wRga fran 8

(A) &9t thate 3 (B) Qe A4t

(C) UWh. 3], TR A (D) 59 & &l w1gh

The principle of span of control was propounded by :
(A) Henry Fayol (B) Elton Mayo

(C) F. W. Taylor (D) None of these
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45. GIR g1 g :

(A) Qek a=wT ufehar (B) &} a=wr1 ufehar

(C) aga~wwT uferar (D) 19 | &l =1t
Communicationisa:

(A) One-way process (B) Two-way process
(C) Multi-way process (D) None of these

46. A p g adig ?

(A) ureg fae (B) wgfaan

(C) U =g (D) 39 & =l &1
Which of the following is not a Current Asset ?
(A) Bills Receivable (B) Stock

(C) Preliminary Expenses (D) None of these

47. A ysy st agia :

(A) iyt i urfer (B) oY oAt W

(C) Y a1 3fTde (D) TS ST

Which is not a function of financial management ?
(A) Acquisition of funds (B) Utilisation of funds
(C) Allocation of funds (D) Formation of plan

48. Ueh ITE fiTent ifas s & :

(A) Gk et (B) Qe AT

(C) Tk srforaaf<h (D) ek SraUrROM
A product which has physical existence is:
(A) A service (B) A goods
(C) An expression (D) A concept

49. foreht 221 7 AT UR TR T 3} hl hgl ST @

(A) eRw% (B) @let

(C) =ér (D) 3feRiereh

Taxes levied on imports in a country are called :
(A) Tarrifs (B) Quota

(C) Duties (D) Barriers
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50. A= & & i dt wrft gafa i g 2

(A) yfA (B) =mur fafat

(C) =it (D) 379 & S T
Which of the following is not a Fixed Asset ?

(A) Land (B) Trade Investment
(C) Goodwill (D) None of these
51.UAMEE:

(A)wet (B)fa=m=

(C) et 3R farmrr <X (D) 399 @ iE
Administration is :

(A) Art (B) Science

(C) Both Art & Science (D) None of these

52. eI hTIeT @ :

(A) atvgar # gfeg (B) &8 fRArsare=

(C) uetafa & SrawR (D) 315 aoft
Objective of development is:

(A) Increase in ability (B) Better performance

(C) Opportunity for promotion (D) All of these

53. Shes1gchoT AT 3 2 :

(A) fAHR T YROT (B)31fAR a1 fAaor

(C)eTH &= ot fAmafor (D) =74t s @erT
Centralisation refers to:

(A) Retention of authority (B) Dispersal of authority
(C) Creating profit centre (D) Opening new centre

54. TTeA & I i UTed & & g gge gl s sl 8
(A) FifaF wu# (B)ahrishH & U &
(C)IemF &uH (D) Torifa & Ta #
Comprehensive plan for accomplishing an organisational
objective is known as:
(A) Policy (B) Program
(C) Objective (D) Strategy
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55. YR fafaai g hr Riar s ZRT R 7 off 2

(A) MR TRER (B) e T2l WRR

(C) HERTE GRPR (D) T[CRId GRFR

Indian investment Centre was established by whom ?

(A) Government of India (B) Madhya Pradesh Government

(C) Maharastra Government (D) Gujarat Government

56. IafAar &l faiuar e :

(A) Her-erchra ufNeror (B) sitfe@s &=

(C) goret fAofa (D) 379 & wig 7@l
Feature of entrepreneurship is :

(A) Managerial training (B) Risk taking
(C) Single decision (D) None of these

57. A d N v dg s H e @ ?

(A) IUTEA U Uh (B) fa=t weigras

(C) fauor yeere (D) &=+ a+ft

Which of the following comes under middle level management ?
(A) Production manager (B) Finance manager

(C) Marketing manager (D) All of these

58. TISATHR-TIEHT hl TUIET dUR hid THT A A g aeah g

(A) FieRpdt hY o (B) frvmfiaeszor

(C) S1fAepRT a1 WRTHUT (D) 375 |t

Factors to be considered while building organisation structure are:
(A) Job design (B) Departmentation

(C) Delegation of authority (D) All of these

59. el & sfiaRe Fa daTw g :

(A) fareadt (B) &= 9

(C) SRTH Y ATaGeheT Al gidt (D) 314 & |3t
Advantages of internal sources of recruitment are :
(A) Economical (B) Easy selection
(C) No need of induction (D) All of these
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60. RT- T e Seh B RAAwar 2 ?

(A) EOR dhae i f ek (B) 1fAaRY a1 fadh=fiamzor

(C) Wenet aafwh & fAofg (D) &f=a sifdrr

Which is a feature of free-rein or laissez faire leadership style ?

(A) Only downward communication (B) Decentralisation of authority
(C) Single man decisions (D) Centralised authority

61. guiyur Y fAtuaragi & :

(A) gdeardt sk (B) A== uferar

(C) Qer u&t (D) urR=aRes wwet

Which is not a feature of communication?

(A) Pervasive function (B) Continuous process
(C) One party (D) Mutual understanding

62. ARl o ArufRor & 99y ea= ¢4 gvg gesh -9 8 ?

(A) A1k |TUS g g1 Tifge (B) d1eh "dleh g1 =fge

(C) Ares wirargof gl =gy (D) & |+t

What are the factors to be considered while determining standard ?

(A) Standard should be measurable (B) Standard should be accurate
(C) Standard should be flexible (D) All of these

63. ‘31arg gRTUEY fhadhraag ?

(A) TR (B) %hatet

(C) tt. Tw. geae (D) Twra

Who has given the concept of ‘'manegment by exception’ ?
(A) Taylor (B) Fayol

(C) P. F. Drucker (D) Appley

64. amyfies Fresror dais & -

(A) srgura fasdwor (B) wdierhig 3icheror

(C) IueIRAa @i (D) & |+t

Modern control technique is :

(A) Ratio analysis (B) Managerial Audit

(C) Responsibility Accounting (D) All of these
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65. A= & s a1 fa~fa udia spr BT A & 2

(A) dofi pt Sfere A & (B) UTE ek Aqi®

(C) TueT &t fdFar AT (D) T T UHT IuART

Which of the following is not an objective of financial management ?
(A) Profit maximisation (B) Customer satisfaction

(C) Wealth maximisation (D) Efficient utilisation of funds

66. shrdfter goft hY srraaehdr ol gafada A arcdt gew 6 :

(A) ger=hifa (B) STE <<k

(C) uTeet IUR (D) & uoft

Factors affecting working capital requirements are:
(A) Inflation (B) Production cycle
(C) Credit availed (D) All of these

67. §Sfl ISR T A &

(A) o9 & gTRUT hr glaem g arare  (B) Fasr &1 Aanf e Fwar @

(C) e & g dRa &= @ (D) & af

Importance of Capital marketis :

(A) To provide help in transfer of money (B) Paving path of investment
(C) Encourages for savings (D) All of these

68. g fAufRor Torfifa @
(A) Fea fenfa Hifa (B) 99¢eM geg fRrufzor Hifa
(C) wira & 31fdes Fea PMufror Hifa (D) & uoft

Pricing strategy is :

(A) Price skimming policy (B) Penetration Pricing policy
(C) Cost plus pricing policy (D) All of these

69. @11 ot Uft 21f~h @ St weius & Toft st ol giudi g ?

(A) @galT (B) &H=g

(C) Ttsr=m (D) WeiY USTIshH

Which force binds all the functions of management ?

(A) Cooperation (B) Coordination

(C) Planning (D) Management hierarchy
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70. Aafaf@a d @ a9-a91 ug Aad TR & ydys 4 &faq g g2

(A) ®BIRAA (B) uddaren

(C) 3rgumT Sifdarr (D) fauur= wsitrer

Which of the following is not related with lower-level management ?
(A) Foreman (B) Supervisor

(C) Section officer (D) Marketing manager

71. ShrafcHeh e+ Ut g STal -

(A) fafrdierzur hY srraaerar g (B) TAT T ATHR ISTEIAT 8
(C)Rra g Fa Tar I glarg (D) A st

Functional organisation is suitable where -

(A) Needs specialisation (B) Large organisation size
(C) Only one product for sale (D) All of these.

72. -4t fad=iianvor @ g+ areft g1fa =8t 82

(A) ifdes fa=fa R (B) T&r= Hiferat vt gt

(C) faarg (D) 399 @ hid

Which is not a disadvantage of decentralisation?

(A) More financial burden (B) Uniform policies followed
(C) Conflicts (D) None of these

73. uMTeht Iivor A egfera aran g :

(A) siff=a1 (B) 3 wicang it =t

(C) Tt <hY AT ohT =% (D) & a3t

Personal barrier to effective communication is:

(A) Unwillingness (B) Lack of proper incentive

(C) Fear of challenge of authority (D) All of these

74. gdderh 3t g :

(A) S=a Ua qegs uad & i

(B) srHa} Ud HegH wad & =

(C) v} wd fAw ueier & fi=

(D) =St U S=retes & =
Supervisor is the link between :

(A) Top and middle management

(B) Worker and middle management
(C) Worker and lower management
(D) Worker and director
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75. THA GTHA Heh 3T hi- 9T YU g ?

(A) Hif@® (B) faf@«

(C) fafe (D) 57 9 i 15l

Face to face contact is which type of Communication ?
(A) Verbal (B) Written

(C) Specific (D) None of these

76. YT H ILTqH SRR gid 8

(A) 2 (B) 4
(C) 12 (D) 8
The minimum parties to communication are :
(A) 2 (B) 4
(C) 12 (D) 8

77. e hY ydy & foha TR R Smaghar gidi g ?

(A) 3= (B) 7w

(Cc) A= (D) gt TR

Direction is required at which level of management?
(A) Top (B) Middle

(C) Lower (D) All levels

78. deh 9TE, 91U & :

(A) sreaehtferer fast a1 (B) Aegasifaras fa=r &r

(C) érfeprferer At (D) 39H & ol w1a1

Bank credit is a source of :

(A) Short-term finance (B) Medium-term finance
(C) Long-term finance (D) None of these

79. 3t geft A <gar g :

(A) 3=a siifEw (B) argfaes siifeas
(C) (A) gd (B) &t (D) 35 & i T
Venture capital contains:

(A) High risk (B) Venture risk
(C) Both (A) & (B) (D) None of these
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80. fAater ufdde aRir g :

(A) a2zt <t (B) F=aAt <Rl

(C) fasstwor &t (D) @ w3t
Planning report is a summary of :

(A) Facts (B) Informations
(C) Analysis (D) All of these

81. fate H&fda di & :

(A) Tavaed=T (B) gf® ik &
(C) wifaw & (D) goraT &
Planning is not related with:

(A) Innovation (B) Vision

(C) Risk (D) Creativity

82. Frefsfier ot i vt i 2 -

(A) = (B) sifeR

(C) Sr=urft (D) 399 & ahis AT
The nature of working capital is :

(A) Stable (B) Unstable

(C) Floating (D) None of these

83. fr1 # § l-91 areTR AR @ 3t g3 s i 8 ?

(A) SiifEw ueie (B) g fifa

(C) =1 At wa e R=ron (D) witr &t wgfa

Which of the following is not a problem related to market expansion ?
(A) Risk management (B) Price Policy

(C) Profit planning and expense control (D) Trend of demand

84. Ry h @va d T A g ?

(A) Saure fAate= (B) IuTg o aifiepror

(C) "t gafgam= (D) 37 @ i T

Which is included in the nature of marketing ?

(A) Product planning (B) Classification of products
(C) Demand forecasting (D) None of these
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85. f1 & | &hI91-91 e TR Jeich UR YT ST 8 ?

(A) g&H ardreror (B) TS &R

(C) \fw (D) 3949 & hiE &

Which of the following factors affect market assessment ?
(A) Micro environment (B) Production cost

(C) Demand (D) None of these

86. 1 # | l=-¢t ueiy & S gk aHET @ ?

(A) ITH (B) He

(C) fasht (D) sitfe&w weiy

Which of the following is a problem related to management ?
(A) Profit (B) Money

(C) Sales (D) Risk management

87. yaiyhig gisT &l faarR fasrfAa giar g :

(A) TSR 3Tl & (B) Sui=hT Tderor @

(C) fareprrer & =Roll st AT A @R (D) 391 9oft

Management planning idea evolves from:

(A) Market observation (B) Consumer survey
(C) Keeping in mind the steps of development (D) All of these

88. shrd2fiet Usht a1 aref 8

(A) fafaai (B) FATier

(C) =rreg wwuf~rat ot are] a1 WR Snfda (D) 399 & &g &
Working Capital means:

(A) Investment (B) Dividend

(C) Excess of current assets over current liabilities (D) None of these

89. = fAvfg wwfAa Adi gtar 8 -

(A) Iaare 6l 7T & (B) & <t AT &

(C) hiui Y aReTaT & (D) swvaft kY g @
Bonus decisions are not affected by :

(A) Quantity of production (B) Amount of profit

(C) liquidity of funds (D) Age of the Company
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90. 3f1ffer fifa & uRad= &1 saaara R a1 UHTE Ut ?

(A) seht ufaeauf (B) sifafa=arg aromR

(C) urgenl ht aesett A T (D) su# gaft

What are the impacts of changes in Economic Policy on Business ?
(A) Increasing competition (B) Market orientation

(C) More demanding customers (D) All of these

91. Afeif@d d @ shia-Ht vehet IUThT Sl AT 8 ?

(A) 38T (B) &St

(c) -hfeat (D) FAawm

Which of the following is a single use plan ?
(A) Objective (B) Budget

(C) Policies (D) Rules

92. fory Hire # et S glaT @ ?

(A) Sitg=TRes Trs+ (B) 3rtg=nRes wire+

(C) Rrurfiy d@wea (D) foraTeas HireA

There is no favouritism in which organisation ?

(A) Formal organisation (B) Informal organisation
(C) Divisional organisation (D) Functional organisation

93. AT i Sragehdr N A Gad I=T SMaWhAT TR & :
(A) GRETT ATahT (B) ¥l TRl

(C) srreq-T—gf® it smagaarar (D) ufast &Y srrageher
The highest level in the Need Hierarchy of Maslow is :
(A) Safety needs (B) Belongingness needs
(C) Self acutalisation needs (D) Prestige needs

94. 9T Frafwral & grafwal g it s d uRafda gidt & :

(A) ®: HER & 3<% (B) Teh aef o 33

(C) Ueh & fi=1 adf & areR (D) 191 & ui™ af & 3r=<=
Current Assets are those assets which get converted into cash :
(A) Within six months (B) Within one year

(C) Between one and three years (D) Between three and five years
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95. =it grfagt A fafaat g Aofa wgemar g -

(A) shrfefiet doft o1 Tsier (B) it srsaféar

(C) fat =ga==a a1 Aol (D) 399 & i T

Investment decisions in fixed assets is called :

(A) Management of working capital (B) Capital budgeting
(C) Financing decision (D) None of these

96. A A i fAFraT SR A AR GehdT ?

(A) Teh IUNIHT (B) Iui+ht 9 19 A=g«r ure = gt
(C) &% WFR (D) 359 TR

Which of the following can not file a complaint ?

(A) A consumer (B) Unrecognised Consumer Forum
(C) Central Government (D) State Goverment

97. fAfeaf@a # shi=-ar faaror T aregw g @ ?

(A) TUeh-&181g |TeaH (B) fz-wa9g areaw

(C) Fr-wadi wremw (D) 39¥ & &< 7l

Which of the following is not a channel of distribution ?
(A) One-level channel (B) Two-level channel
(C) Three-level channel (D) None of these

98. fFafaf@a & @ Rl9-ar e S g g ?

(A) &1 (B) |1

(C) gy (D) afsSrat

Which of the following is not a perishable product ?
(A) Fruit (B) Soap

(C) Milk (D) Vegetables

99. “ggl yau 7 fohar sird 1" ag 3aTevuT g :

(A) fifer vt (B) fa= ot

(C) IstE =1 (D) RishH T
“No Smoking here." is an example of :
(A) Policy (B) Rule

(C) Budget (D) Programme

100. 92 3AThR a1t IUhH & YR giar & :

(A) o= (B) srraeqeh

(C) arfard (D) 35H & i T

In a large sized enterprise, delegation is:
(A) Voluntary (B) Necessary

(C) Compulsory (D) None of these

21



Eus - d [ Section - B
(g I U / Short Answer Type Questions )

U EEaT 1 € 30 dch oY 3« g1 3910 | fohegl 15 usil & IR &1 uda & g 2 sies

RafRa &

152 =30

Question Nos. 1to 30 are Short answer Type. Answer any 15 questions .Each

question carries 2 marks.

1. i AURUI hT AT I @ ?

What are the objectives of motivation?

2. SHifees Mg T g ?

What is non-monetary incentive?

3. FAais & gl ST aa1sv |

State two objectives of planning.

4. =T <h1 31 HSITSU |
Discuss the meaning of control.

5. 3weff Y aRymar g |

Define recruitment.

6. fahflaur TR 3rf ¢ ?

What is meant by decentralisation?

7. AfARR-RTIUT & S &t A9 Ia13T|

State any two advantages of delegation of authority.

8. fAater uRER &t uRvrfa hifeig)

Define planning premises.

9. d2flenzur <h gt AT FATSTI

Write two advantages of globalisation.

10. 71fa S1eaT= ShT IeY AT @ ?
What is the objective of motion study?
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11. yeie & & q=a wrd faf@g)

Write two main functions of management.

12. fa<fta aroIR & &t st o1 gufs fifg)

Explain two functions of financial market.

13. it e o g 2
What is capital gearing ?

14. ufaenfRa &1 &t aw=TsT |
Explain retained earnings.

15. fAaRur AremH h T FRf & ?

What are the functions of channels of distributions ?

16. fasmu=r & uRamar Ssfiv |

Define advertising.

17. SUM<HT O FAT MAT & ?
What is meant by consumer ?

18. Faved= h =aifd hIA-A R a8 ?

Which function comes under innovation ?

19. HY & ATYR UR YISTHT & UhR Id15T1
State the types of planning on the basis of time.

20. [AER AT giar g ?
What is an opportunity ?

21. I8 hl AhRIHE UThaT AT AT SATAT @ ?
Why is selection considered to be a negative process ?

22. Aqea & FAigper Al o oref FeTsUl

Give the meaning of Autocratic style of leadership.

23. quivuTH AR AT @ ?

What is noise in communication ?
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24. =R i AT T faRtg R @ ?

Why employees resist controlling ?

25. fa=<fia ey & i gt Ie2T Fa13U|

State any two objectives of financial management.

26. @A gSft & A RT-d Hia 8 ?

What are the sources of fixed capital ?

27. gsit areTR ot Ryt hifsgl

Define capital market.

28. afei T o &t A1 413U

State two advantages of labelling.

29. R A RTATNE ?

What are the advantages from advertising ?

30. G AT ?
What is organisation ?

24



&ef ITg U / Long Answer Type Questions

N IGET31 4 38 dah A ua g s A frgi4usi SR EI vds FfAw 5
3ieh AuffRa g1 4x5 =20
Question Nos. 31 to 38 are Long answer Type. Answer any 4 questions . Each

question carries 5 marks. 4x5 = 20

31. fAder Y uRsvmur &fSie1 A & dawt &1 gofa fifsig) 5

Define directing. Explain the elements of directing.

32. AT Y uferar A Afga fafv= o 1 aufs Hifsa) 5

Explain the different steps in the process of controlling.

33. yaid & Hgd <hl ==t fifSg|
Explain the importance of management.

34. a1 IrdaTaRvT &R 2? g9<h! fagiuarsti &t auf= hifsiol
What is business environment ? Explain its
characteristics.

35. fauur & st &t s fify | 5

Explain the functions of marketing.

36. Yeh IUHt h qEa prd AT 8 ?

What are the main functions of an entrepreneur ? 5

37. 3fu=TiRehr TITa T g ? 39h! fohegl IR faiudarsii el

ELIEYy 5
What is formal organisation ? State its four features.

38. fAgfhervor ufohar & fregl s a=oT o1 Seta & guia & |

Explain in brief any three steps in the process of staffing. 5
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